MODELS T 24 GA | 24 GA INS 25 GA 25 GA INS ® HEIGHT # OF #14x5/8" SMEET REV DATE DESCRIPTION
PooR He SECTIONS METAL" SCREWS
5 | 08/04/03 ADDED INSULATED M/N 180, 500
CLOPAY | 84A, 84 —_ 73, 75 1500, 180 UP 1O 7°0° 4 / /04/ /
TN B 3 6 | 05/25/05 UPDATED CODE REF.
IDEAL ] 4RST, 4F 4RSF BRST BRSF 0 T0 106 3 1/4"%3/4" SELF _ 7 | 09/26/05 ADDED RCLLER OPTION
10°9° 10 12’3 7 TAPPING SCREWS ! VIEY
HOLMES | 48, 488 — 42, 428 35, 535 e T 15 5 2" THICK— 8 | 11/30/07 ADDED EXTENDED HEIGHTS, COMBINED CLOPAY, HOLMES, AND IDEAL M/N
SHORT PANEL 14°3° T 159 o i DENSIT‘; Po_uswgt—:m—:m FomNagmngf 9 | 08/08/08 ADDED M/N 42B, 488, 555
16'0° 10 4 MED i 1+5/18" THICK WITH Wi IRG
OPTIONAL DSB OR BETTER GLAZING. SR TR 14 GCIE“?N%}'IM g GA, INJIETM %G':ATE HINGE  BACKER (INSULATED MODELS ONLY) 161 10/21/08 ADDED M/N 4F
E‘éé;, S;LZEB 558 )1 8-1/2"x11". {SEE = Y _C 11] 872009 REVISED FOR TOI
' et ONE INTERMEDIATE STILE BETWEEN
8 g e EAGH EMBOSS LOCATION. ATTAGHED 12 GA GALV. STEEL ToP
TE W/ TOG—L~LOC & URETHANE . .
: i ] ! 1 g Af)/HESNE ROLLER BRACKET. FACH
i 7 %iﬂ iz fx'%{ﬁ;f Al Tz 'xﬂ}ﬂ]{ﬂ% i\ izt camat 112 /ﬁ i BRACKET, ATTACHED W/ (4)
HI {1 ] T2 U JHEE =] T2 S 2 : FRONT FRANE WITH U SCREWS,
t %-— % COATING ON OUTS!DE SURFACE
o ONE 4”16 GA. TALL C—CHANNEL, PER DOOR
© fh il Ty fili h LAk :’I}l{ﬂ{h I el il 1l s i SECTION. ONE_1/4733/4" SELF TAPPING
% s B == U k. e {l\[}ﬁq,u e e ’ THE CPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
R A I—— A 'Emmm; GLAZING #s 3/4% PAN HEAD SCREW SHIP LAP JOINTS. WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
(T v i T J—— Y p— 1A 5. MOLDED INSIDE x: OR INTERNATIONAL BURDING CODE BUT DOES NOY MEET THE
E C e K LITE. RETAINER. {10 SCREWS PER LTE) IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
= [ “ ﬂ ﬂ ﬂ,‘ ﬂ ﬂ n ﬁ i n R n ﬂ ﬂ ﬂ H ﬂ 3 10 S5 o L [+ 14 GA. GALV. ROLLER HINGE. EACH HINGE REGIONS (REF. CHAPTER 1B FBG/IBC)
e i . ! FASTENED TCO END STILES WITH (4)
. N— ————— -‘mmmmgmm I— #14x5/8" SHEET METAL SCREWS AND (4) THIS DOOR MEETS OR EXCEEDS THE DESIGN
¥ M I\ SUDE BOLT 1/4"x3/4" SELF TAPPING SCREWS. SEE LOADS FOR THE WIND SPEEDS LISTED BELOW
Al {Ts 7T i AT filA LI el iy il £nD EPOK ENGAGES VIEW "B". ACCORDING TO THE FLORIDA BLDG. CODE
if 3 ; | 3 il WG POINT STHE INTO VERTICAL OR IBC (ASCE7) FOR THE FOLLOWING
H T N il iR LI;]H§U,' 'J\;{ i TRl T Ul o e SUIRE TRACK. ONE = 1—1/4" WIDE MIN. x 16 GA. GALV. STRAP. CONDITIONS: 1)" ENCLOSED BUILDING, 2) DOOR
s || o f s | M | asssnsnns | s ue | Bassssatl § LOCKING REQUIRED Lok oN (8) PER DOOR SECTION, OPTIONAL (6) HAS 2’ OF WIOTH IN BUILDING'S END ZONE,
T GF Dovdt TRAP CONFIGURATION ON LOGK SECTION 3) MPORTANCE FACTOR OF 1.0, 4) ANY
. STRAP CO o
 I— ——p INGIDE_SLIDE BOLT “(SEE INSIDE ELEVATION) SPECIFIC TO THE ROCF SLOPE, AND 5) 50% SAFETY  FACTOR. :
¢ MAX. WIDTH: 18'0" { Ao - NATURE OF THE LOCK OPTION. EACH WiND SPEED (MPH)! <100 1110 1 1101 1207
INSIDE ELEVATION SHAP ATCH ENGAGES END 1 STRAP ATTACHED W/(3} 1/4"x3/4" SELF EXPOSURE LEVEL. {8 or Cf B €l B
GNTO VERTICAL TRACK. INTER. STHE. TAPPING SCREWS (TWC SCREWS TO DOOR, MEAN ROOF HEIGHT! 30 300 157 30
. o e omgcgm SALE OME SCREW TO C-—-CHANNEL),
N THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING oUTSIDE
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: INTER. STILE VANDLE 25 GA, MIN, EXTERIOR SKIN WITH G-40
1} THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN R gﬁ'ﬁ\@%ﬁcb OF?_@F%QEQNPJSNR%ERTS?;DC% - LHR TOP BRACKET
YELLOW PINE WOOD JAMBS MCUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TC cursiog reo -
CREATE THME MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED snLE e APPLEED TO BOTH SIDES OF STEEL SKIN. DOUBLE HORIZONTAL
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF ,Nsm HANDLE FRE KBV A0k EACH SIoE 13 GA. GALV. STEEL BOTTOM BRACKET.
SCREW HOLE MUST BE AT LEAST 1% FROM BOTH EOGES FOR A 5/16" LAG SCREW. OF DGOR.

2)F THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE
(WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK QVER
SHALL BE INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB

ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT
FASTENERS MUST BE OF A SUFFICIENT INCREASED LENGTH TO ACCOQUNT FOR THE
THICKNESS OF THE WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTG

THE STRUCTURAL FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

-—1 |~ml/2' FROM £DGE

TITTLE:

D :

FICAL JSAM

p=

MENT (Wi FRAM it

2" GALV, STEEL TRACK FASTENED TO
12 GA. GALV, STEEL TRACK BRACKETS,
TRACK ATTACHED TO EACH BRACKET
WITH ONE 1/4"x5/8" BOLTS & NUTS

BRACKETS SASTENED TO WOOD JAMB—" |
WiTH ONE 5/16"x1-5/8" LAG SCREW

2x6 YELLOW
PINE JAMB

STOP MOULDING BY DOOR INSTALLER (YO SUIT)
20 GA. MIN. GALV. STEEL END STILE

20 GA. GALV, STEEL INTER. STILE

]

12 GA. GALV. STEEL TRACK

xd

PER TRACK BRACKET.

OR TWO 1/4" DIA. RIVETS.

. 7/16"

FASTENER (ONE PER ROLLER)

14 GA. GALV, ROLLER HINGE. EACH
HINGE FASTENED TO END STILES
WITH (4) #14x5/8" SHEET METAL
SCREWS AND (4) 1/4"x3/4" SELF
TAPPING SCREWS.

2" 10 BALL SHORT STEM STEEL

i

L.D. ROUND PUSHNUYT

18 GA. GALV. HINGE
STILES WiTH (4)

ROLLER WITH STEEL OR NYLON

JA NEI

RATION
SECTION CoC

3/8 x3" LAG SCREWS ON 24" CENTERS. 1~1/8" 0.D. WASHER REQUIRED. LAG
SCREWS MAY BE COUNTERSUNK (BUT NOT REQUIRED} YO PROVIDE A FLUSH
MOUNTING SURFACE, HORIZONTAL JAMBS DO NOT TRANSFER LOAD,

PREPARATE F JAMBS BY OTH

3/8"x3" SLEEVE ANCHOR BOLTS ON 18" CENTERS (2,000 PS! MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS.

OR

1/47%3" TAPCON SCREWS ON 15" CENTERS {2,000 £SI MIN. CONCRETE) OR 8"
1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH

CENTERS (C—90 BLOCK).

MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

QTHER, JAMB_ CONFIGURATIONS:

JAMB CONFIGURATIONS.

REFER TG DASMA TDS-161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR

NOTE: THE DESIGN OF THE
SUPPORTING STRUCTURAL ELEMENTS
SHALL BE THE RESPONSIBILITY OF
THE PROFESSIGNAL OF RECORD FOR
THE BUILDING OR STRUCTURE AND
IN ACCORDANCE WITH CURRENT
BUILDING CODES FOR THE LOADS
LISTED ON THE DRAWING.

TIRE.

DESIGN ENGINEER: MARK WESTER’"&E.LD P.E.

WINDS ARE SIGNEC I BLUE
IM(WARMSEDM(&!K\W

EACH HINGE FASTENED TO l
¥

#14x5/8" SHEET METAL
SCREWS. SEE VIEW "C".

ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTRUSION & VINYL, WEATHERSTRIP

) ROOR INSTALLER (1O SUIT)
DOGRS OVER 8" TALL

/

HORIZONTAL TRAGK SUPPORT BY\]

13 GA. GALV, STEEL FLAG SRACKET.
EACH FASTENED TO WOCD JAMB WITH
{3} 5/16"x1-5/8" LAG SCREWS.

DQUBLE TRACK
W M. QETI

HORIZONTAL, TRACK SUPPORT BY
DOCR INSTALLER (TO SUI}')W

7 m TALL DOORS AND UNDER

t3 GA. GALY. STEEL FLAG BRACKET.
EACH FASTENED TO WOOD JAMB WITH

2" GALV. STEEL TRACK,
TRAGK THICKNESS: .06G" MIN,

TP, - 21/ 2"%12--GA, - GALY, -STEEL-TRACK BRACKET,
iS} TRACK BRACKETS PER SIDE EUP 10 160 HIGH}
|~ B) TRACK BRACKETS PER SiDE {UP TO 12" HIGH
DISTANCE BETWEEN AND TOP TRACK BRACKET

NOT TO EXCEED 30" G.C.

]
!
Ty

DOOR | s
sl -

NOTE. FOR DOCRS QVER
~0" HiGH, TRACK
[EETTCONFIGURATION SHALL NOT
142" [EXCEED MAXIMUM SPAGING
PROVIDED, CONSULT FACTORY
FOR MORE DETAIL IF RGD,

[—— OPENING HEIGHT « DOOR HEIGHT

3
——— OPENING HEIGHT = DOOR HEIGHT

{3) 5/16™1~5/8" WOOD LAG SCREWS.

DOOR
. HEIGHT | "L”
. e N
2" GALV. STEEL TRACK, 7 76
MIN. TRACK THICKNESS: 0B0" [ iV
80" | 88"

%]

T

™~ 1vp. 2-1/2"%12 GA. GALY. STEEL TRACK BRACKET.
(4) TRACK BRACKETS PER SIDE.

f

i i Fs—;/a'

s TRACK_AVALABLE AS
NEEDED,

DESIGN L0ADS: +25.0,
TEST LOADS: +37.5,

~250 PSF
-37.5 PSF

.

MANUF ACTURING FRODUCT CLDBEs

MPC: PAN-2F153

WINELDAD RATING MAX. DDOR SIZE:

18'0"W x 16'0"H

DESCRIPTION

FLORIDA P.E. #48405,
NC P.E. #23832,
TEXAS P.E. #91513

MODEL 73/75/84A/94

%f PATE' 11/30/94
i 8585 DUKE BLYD.
Building Products  son, on 45040 [N B
Company (513) 770-4800 CHECKED BY:

Clopay Corporation All Rights Reserved.

B

DRAWING NUMBER

101312

VER:

TO!




